#### Exam B #10:

$$LET f(x) = \begin{cases} x - 1 & x < 0 \\ x^2 & 0 \le x < 1 \\ \frac{1}{x} & 1 \le x \end{cases}$$

CHECK "(HANGE" POINTS: X=0, 1

$$\lim_{X \to 0^{+}} \frac{f(x) = \lim_{X \to 0^{+}} x^{2} = 0}{x \to 0^{+}}$$

$$\lim_{X \to 0^{+}} \frac{f(x) = \lim_{X \to 1^{-}} x - 1}{x \to 0^{-}}$$

$$\lim_{X \to 0^{-}} \frac{f(x) = \lim_{X \to 0^{-}} x - 1}{x \to 0^{-}}$$

$$\lim_{X \to 1^{+}} \frac{f(x) = \lim_{X \to 1^{+}} \frac{f(x) = 1}{x \to 1^{+}}}{x \to 1^{+}}$$

$$\lim_{X \to 1^{+}} \frac{f(x) = \lim_{X \to 1^{+}} \frac{f(x) = 1}{x \to 1^{+}}}{x \to 1^{-}}$$

$$\lim_{X \to 1^{-}} \frac{f(x) = 1}{x \to 1^{-}}$$

# Exam B #11:

# LET F(X) & g(x) BE FUNCTIONS SUCH THAT lim f(x), lim g(x) EXIST X > 9 X > 9

# AND NIS A PODITIVE INTEGER. HOW MANY OF THE FOLLOWING ARE

### TRUE?

$$\begin{array}{l} \text{lic}(f(x)g(x)) = \lim_{x \to a} f(x) \lim_{x \to a} g(x) \rightarrow 1 \in S, \text{ lim} T \mid A \otimes S \\ x \to a & x \to a \\ \end{array}$$



# ExAM B #13:

FOR WHICH OF THE FOLLOWING CAN WE USE SOUEEZE THEOREM

TODETERMINE LIMIT AS 
$$x \rightarrow 0^{?}$$
  
(A)  $F(x) = \ln(x-1)$  lim  $\ln(x-1)$  DNE  $((Annother the hor x=0)$   
NEGATIVE  $H'S)$   
(B)  $h(x) = \frac{1}{x}$  lim 1 UNDEFINED  
 $x \rightarrow 0$   
(c)  $g(x) = \overline{x-1}$  lim  $\overline{|x-1|}$  DNE  $((Annother take SQ. Radtof-1))$   
 $x \rightarrow 0$   
(d)  $f(x) = \cos(\frac{1}{x})$  IF YOUTRIED TO USE SQUEEZE THEORED,  
 $-1 \le \cos(\frac{1}{x}) \le 1$   
 $\Rightarrow \lim_{x \rightarrow 0} -1 \le \lim_{x \rightarrow 0} \cos(\frac{1}{x}) \le \lim_{x \rightarrow 0} 1$   
 $x \rightarrow 0$   
 $(-1) \le \lim_{x \rightarrow 0} \cos(\frac{1}{x}) \le 1$   
 $(-1) \le \lim_{x \rightarrow 0} \cos(\frac{1}{x}) \le 1$   
 $(-1) \le \lim_{x \rightarrow 0} \cos(\frac{1}{x}) \le 1$   
 $SQUEEZE THEOREM DOES$   
NOT APRIL!  
 $\Rightarrow NONE OF THESE$ 

$$\frac{d}{dx}\left(2e^{(x-5)}\right) = \frac{d}{dx}\left(2e^{x}e^{-5}\right) = \frac{d}{dx}\left(2e^{-5}e^{x}\right) = 2e^{-5}e^{x} = \left[2e^{x-5}\right]$$

XRONOS HW7#1:

$$\frac{d}{dx}\left(x^{4}+8x^{3}+6x^{2}-40x+25\right) = 4x^{4-1}+8(3)x^{3-1}+6(2)x^{2-1}-40(1)x^{1-1}$$
$$= 4x^{3}+24x^{2}+12x-40$$

### XRONOS HW7#4:

FIND THE EQUATION OF THE LINE TANGENT TO f(x) = -x3 + 9x2 - 6x + 9 AT

# THE POINT (7,65)

$$\frac{d \left[-x^{3}+9x^{2}-6x+9\right]}{dx} = -3x^{3-1} + 9(2)x^{2-1} - 6x^{1-1}$$

$$= -3x^{2} + 18x - 6$$

 $\Rightarrow f'(x) = -3x^{2} + 18x - 6$ 

STEP TWO: THE SLOPE OFTHE TANGENT LINE AT (7,65) IS THE VALUE

$$f'(2) = -3(2^{2}) + 18(2) - 6 = -142 + 126 - 6 = -22$$
  
SLOPE OF TANKENT UNE  
 $@ x = 2$ 

STEP THREE: POINT- SLOPE FORM: Y-Y, =n(x-x1), X=7, Y=65, M=-27

$$y - 65 = -27(x - 1)$$
  
 $y - 65 = -27x + 189$   
 $y = -27x + 254$